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General Instructions :

1.
2.

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. For each of these questions 4 alternatives are
given out of which only one is correct. Choose the correct one.

1.

The value of k, for which the quadratic equation 4x2+4+/3x +k=0 has equal roots is :
(A) k=2 B) k=-2 (C) k=-3 (D) k=3

Which term of an A.P : 21, 42, 63,.... is 210 ?
(A) oth (B) 10th (C) 12th (D) 11th

From a point Q, the length of tangent to a circle is 24 cm and the distance of Q from the
centre is 25 cm. The radius of circle is :

(A) 7cm (B) 14 cm (C) 10 cm (D) 3.5 cm

In the figure 1, AT is the tangent to the circle with centre O such that OT=4 cm and
OOTA = 30°. Then AT is equal to :

O
{c
In
TR
A T
Fig. 1
(A) 4cm (B) 2cm C) 23 m (D) 8 cm

The probability of drawing a green coloured ball from a bag containing 6 red and 5 black
balls is :

(A) 0 B) 1 © D) %,

The length of the string of a kite flying at 100 mts above the ground with the elevation of 60°
is:

(A) 100 m B) 10042 m © pEm (D) 200m

The angle through which the minute hand of the clock moves from 8 to 8 : 35 is :
(A) 210° (B) 90° (C) 60° (D) 45°

A solid sphere of radius x cm is melted and cast into a shape of a solid cone of radius x cm.
Then the height of the cone is :

(A) 3x cm (B) xcm (C) 4x cm (D) 2x cm
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10.

In the given figure 2, O is the centre of the circle with 0TQM = 35°, then angle ATQ would
be equal to :

Q
A
M £ —
Fig. 2
(A) 55° (B) 56° (C) 35° (D) 54°

In the given figure 3, AB is a chord of circle and AOC is diameter such that angle ACB=55°.
If AT is a tangent to the circle at point A, then angle BAT is :

Fig. 3
(A) 65° (B) 40° (©) 50° (D) 55°

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11.

12.

13.

14.

15.

16.

17.

Find the number of all 2 digit numbers divisible by 3.
Find a point on x-axis which is equidistant from (-3, —4) & (4, —3).

A solid cone of radius 4 cm and vertical height 3 cm has to be painted from outside except
the base. Find the surface area to be painted.

Find the values of k such that the quadratic equation : x2—2kx + (7k —12) =0, has real and
equal roots.

The length of the minute hand of the clock is 14 cm. Find the area swept by the minute hand
from 9 : 00 to 9 : 35.

In what ratio does the point (—4, 6) divide the line segment joining the points A(—6, 10) and
B3, —8)?

Prove that the parallelogram circumscribing a circle is a rhombus.
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18.

Two dice are thrown simultaneously. Find the probability that :
(a) Sum is less than 5.
(b) Doublet appear.

OR

From a deck of playing cards all spades are removed, a card is drawn at random from the
remaining cards. Find the probability that it is :

(a) Red card
(b) Black face card

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19.

20.

21.

22,

23.

24.

25.

From the top of a 10 m tall tower the angle of depression of a point on a ground was found
to be 60°. How far is the point from the base of the tower ?

A sphere of radius 6 cm is dropped into a cylindrical vessel partly filled with water. The
radius of the vessel is 8 cm. If the sphere is submerged completely, then find the increase in
level of the water.

OR

A solid metalic sphere of diameter 1 m is melted to form small spheres of radius 10 cm, find
approximately how many such spheres can be formed.

1
Which term is the first negative term in the given A.P : 23, 215, 20,........ ?

Solve the equation :

1 1 1

- =—,x#4,7
x +4 x —7 30

OR

If one root of the quadratic equation x2—5x + 6k =0 is reciprocal of other, find the value of k.
Also find the roots.

Find the area of quadrilateral ABCD formed by the following points :
A4, 3), B(6, 4), C(5, —6), D3, —7)
OR
For what value of x, the points A(1, 2), B(—4, 7) and C(x, —1) are collinear ?

From a bag containing 90 discs which are numbered from 1 to 90, one disc is selected at
random. Find the probability that it bears :

(a) A two digit number.
(b) A number divisible by 5.
(c) A perfect square number.

Find the relation between x and y such that the point P(x, y) is equidistant from the point
A(3, 6) and B(—3, 4).
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26.

27.

28.

In the given figure 4, XY and X'Y' are the parallel tangents to a circle with centre O and
another tangent AB with point of contact C intersecting XY at A and X'Y' at B. Prove that

OAOB =90°.

X A Y
O C

X' I B Y
Fig. 4

Draw a triangle ABC with side BC=7 cm, OB =45° and] A =105°. Then, construct a

triangle whose sides are % times the corresponding sides of triangle ABC.

In the given figure 5, OACB is a quadrant of a circle with centre O and radius 3.5 cm. If
OD =2 cm, find the area of the :

A
D C

@) B

Fig. 5
(i) Quadrant OACB
(i) Shaded region

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29.

30.

Two taps together can fill a tank in 9% hrs. The tap of larger diameter takes 10 hrs. less than

the smaller tap to fill the tank separately. Find the time in which each tap can fill the tank
separately.

A sphere and a cube have same surface. Show that the ratio of the volume of sphere to that

of the cube is /6 : /1 -
OR

Find the mass of a 3.5 m long lead pipe, if the external diameter of pipe is 2.4 cm, thickness of
the metal is 2 mm and 1 cm? of lead weighs 11.4 kg,
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31.

32.

33.

34.

If m times the m™ term of an A.P. is same as n times the nth term, find its (m +n)th term.

The perimeters of the ends of a frustum of a right circular cone are 44 cm and 33 cm. If the
height of frustum is 16 cm, find its volume and total surface area.

Prove that the angle between the two tangents drawn from any external point to a circle is
supplementary to the angle subtended by the line segment joining the points of contact at the
centre.

An aeroplane is flying at a height of 2500 m above the ground. From a point on the ground
the angle of elevation of this aeroplane was found to be 60°. If after 15 seconds of horizontal
flight, the angle of elevation changes to 30°, find the speed of the aeroplane.

OR

A man standing on the deck of the ship which is 10 m above the sea level, observes the angle
of elevation of the top of the cloud as 30° and angle of depression of its reflection in the sea
was found to be 60°. Find the height of the cloud and also the distance of the cloud from the
ship.

-000-
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(A) k=2 (B) k=-2 (C) k=-3 (D) k=3
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Tk TSI i fHe a1elt E 8 9 8 : 35 A% =ai B a1 &0 W Hd R, TR
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9.

10.
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